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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOACOR13T-ECONOMICS (CC13) 

INDIAN ECONOMY 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের। 
Candidates should answer in their own words  পরীkাথ�ীরা িনেজর ভাষায় যথাসmব শbসীমার মেধ°  
and adhere to the word limit as practicable. উtর  কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is meant by economic planning?  

অথর্ৈনিতক পিরকlনা বলেত কী েবাঝায় ? 
(b) Mention two structural constraints that Indian economy faced at the time of her 

Independence.  

sাধীনতার সমেয় ভারতীয় অথর্নীিত েয কাঠােমাগত pিতবnকতাgিলর সm ুখীন হেয়িছল তােদর মেধয্ 
েয-েকােনা dিটর উেlখ কেরা। 

(c) Cite four major wage employment programmes adopted in India. 

ভারেত গৃহীত pধান চারিট মজুির িনেয়াগ pকেlর নাম েলেখা। 

(d) State two major changes in fiscal policy adopted in India in post Liberalisation 
period.  

ভারতবেষর্ উদারীকরণ পরবতর্ী যুেগ গৃহীত িফসকাল নীিতেত েয পিরবতর্ন এেসিছল তার মেধয্ েয-
েকােনা dিটর উেlখ কেরা। 

(e) In which sense Import substitution is costly for an economy?  

েকান অেথর্ আমদানী পিরবতর্তা একিট অথর্নীিতর পেk বয্য়বhল ? 

(f) What is poverty gap ratio?  

দািরdয্ ফাঁক আনুপাত কী ? 

(g) Mention two objectives of Labour Policy taken by Government of India. 

ভারত সরকার কt র্ক গৃহীত Ëিমক নীিতর dিট উেdশয্ েলেখা। 

(h) What is Population Explosion?  

জনিবেsারণ কােক বেল ? 
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2. Answer any four questions from the following:
িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) With suitable examples describe four cases where Indian planners faced problem 
of choice. 
ভারতবেষর্র পিরকlনািবদগণ েয পছেnর সমসয্ার সm ুখীন হেয়িছেলন তা চারিট উদাহরণ সহেযােগ 
বণর্না কেরা। 

(b) Distinguish between relative poverty and absolute poverty.  
tলনামলূক দািরdয্ এবং চরম দািরেdয্র মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

(c) Mention four basic causes of growing educated unemployment in India in recent 
times.  
বতর্মান সমেয়র kমবdর্মান িশিkত েবকারেtর চারিট মূল কারণ উেlখ কেরা। 

(d) Write a short note on Export promotion versus Import substitution.  
রpািন pসার বনাম আমদানী পিরবতর্তা — একিট টীকা েলেখা। 

(e) What is demographic dividend?  
জনসংখয্ার লভয্াংেশর ধারণািট িক ? 

(f) What type of changes in the trend of poverty do we observe in India in the post 
liberalisation period?  
ভারতবেষর্ উদারীকরণ পরবর্তী যুেগ দািরেdয্র pবণতায় েয পিরবতর্ন আমরা লkয্ কির েসgিল কী কী ? 

  

3. Answer any two questions from the following: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) What were the major features of the Indian economy at the time of independence?  
sাধীনতার সময় ভারতীয় অথর্নীিতর �বিশŶয্ িক িক িছল ? 

(b) Critically examine the success of self-employment programmes to reduce 
inequality in income distribution in India.  
ভারতবেষর্ আয় বĊেন �বষময্ hাস করেত sিনযিুk pকlgিল কতদূর সফল হেয়েছ তা িবচার কেরা। 

(c) Analyse the role of public sector in the post-liberalisation period to achieve the goal of 
growth with stability.  

িsিতশীলতা সহ বৃিd এর লkয্মাtা অজর্েন উদারীকরণ পরবতর্ী যুেগ সরকাির েkেtর ɛিমকা িবেųষণ 
কেরা। 

(d) Evaluate the monetary policies taken by the Government of India.  
ভারত সরকােরর আিথর্ক নীিতর মূলয্ায়ন কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOACOR14T-ECONOMICS (CC14) 

INTERNATIONAL ECONOMICS  

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks.  pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের। 
Candidates should answer in their own words  পরীkাথ�ীরা িনেজর ভাষায় যথাসmব শbসীমার মেধ°  
and adhere to the word limit as practicable. উtর  কিরেব। 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Differentiate between internal and international trade. 

অভ°nরীণ ও আnজ�ািতক বািণেজ°র মেধ° পাথ�ক° িক ? 
(b) How does the idea of comparative advantage differs from that of absolute advantage?  
tলনামলূক সুিবধার তtt ও চরম সুিবধার তেttর মেধ° পাথ�ক° িক ? 

(c) Mention two characteristics of trade indifference curve.

বািণজ° িনরেপk �রখার dিট �বিশŶ° উেlখ কেরা। 
(d) Distinguish between nominal and real exchange rates. 

আিথ�ক ও pkত িবিনময় হােরর মেধ° পাথ�ক° িক ? 
(e) Distinguish between Balance of Trade and Balance of Payment. 

বািণজ° ভারসাম° ও �লনেদন ভারসােম°র পাথ�ক° িক ? 
(f) What is factor intensity reversal?  

উপাদান িনিবড়তার �বপরীত° কােক বেল ? 
(g) Mention two non-tariff barriers of free trade. 

মুk বািণেজ°র পেথ dিট ǖlহীন বাধার উেlখ কেরা। 
(h) What is Metzler Paradox?  

�মজলােরর kটাভাস কােক বেল ? 
  

2. Answer any four questions from the following: 
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Explain the concept of “effective rate of protection”. 

সংরkেণর কায�করী হার বলেত িক �বােঝা ব°াখ°া কেরা। 
(b) How can you derive the elasticity of the offer curve of a country? 

�কােনা �দেশর ‘offer curve’ এর িsিতsাপকতা িকভােব িনণ�য় করেব ? 
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(c) State and explain the basic assumptions of the Hecksher-Ohlin theory. 
�হকসার-ওিলন তttিটর অনুমানসমূহ ব°াখ°াসহ �লেখা। 

(d) Justify the statement “ Balance of payment always balances”. 

িনmিলিখত উিkিটর ব°াখ°া দাও – ‘‘আnজ�ািতক �লনেদেন সব�দা সমতা থােক’’। 
(e) What is meant by Leontief Paradox? Suggest any one explanation of this paradox.  

িলওনিটএফ kটাভাস বলেত িক �বাঝায় ? এই kটাভাসিটর �যেকােনা একিট ব°াখ°া দাও। 
3+2

(f) What is meant by optimum tariff? Derive the formula of optimum tariff.  
কাম° আমদািন ǖেlর হার বলেত িক �বাঝায় ? কাম° আমদািন ǖেlর সূtিট িনণ�য় কেরা। 

3+2

  

3. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) (i) Show that gains from international trade can be decomposed into two 
components – gains from exchange and gains from production specialization. 

 �দখাও �য আnজ�ািতক বািণজ°-লাভেক dিট ভােগ ভাগ করা যায় – িবিনময়জিনত লাভ ও 
উৎপাদেনর িবেশষীকরণজিনত লাভ। 

(ii) Show a situation where entire gains from trade is due to specialization. 
 এমন একিট অবsা িববৃত কেরা �যখােন আnজ�ািতক বািণজ°জিনত সmূণ� লাভ ǖধু উৎপাদন 

িবেশষীকরণ এর কারেণ হয়। 

6+4

(b) Analyse the possibility of factor price equalization (a) without factor intensity 
reversal, (b) with factor intensity reversal. 

উৎপাদেনর উপাদানgিলর মূেল°র সমতার pসñিট ব°াখ°া কেরা যখন – (ক) উৎপাদেনর িনিবড়তার 
িবপরীতমুখীতা অনুপিsত, (খ) িবপরীতমুখীতা উপিsত। 

(c) Write a short note on foreign trade multiplier with repercussion. 
আnজ�ািতক সmক�যুk অবsার �pিkেত আnজ�ািতক বািণজ° gণেকর উপর সংিkp টীকা �লেখা। 

(d) Analyse the partial equilibrium effect of an import quota. When will the effects of 
tariff and quota be equivalent?  

আnজ�ািতক বািণেজ° আমদািনর পিরমাণগত িনয়ntেণর আংিশক সমিsিতজিনত pভাব আেলাচনা 
কেরা। আমদািনর পিরমাণগত িনয়ntণ এবং আমদািন ǖেlর ফলাফল কখন একই হেব ? 

6+4

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOADSE04T-ECONOMICS (DSE3/4) 

CONTEMPORARY DEVELOPMENT ECONOMICS 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ� মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following:

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What do you mean by institution? 
pিতŸান বলেত িক �বােঝা ? 

(b) What do you mean by sustainable development? 
বহনkম/িsিতশীল উnয়ন বলেত িক �বােঝা ? 

(c) How do you define environmental externality? 
পিরেবশগত বািহয্কতার সংjা দাও। 

(d) What are the objectives of UNCTAD? 
UNCTAD-এর উেdশয্gিল িক িক ?  

(e) What is meant by ‘unequal exchange’? 
অসম িবিনময় বলেত িক �বাঝায় ? 

(f) Write two objectives of World Bank. 
িবƬবয্ােìর dিট উেdশয্ �লেখা। 

(g) What is private portfolio investment? 
বয্িkগত �পাট�েফািলও িবিনেয়াগ কােক বেল ? 

(h) Define global public good with an example. 
একিট উদাহরণসহ িবƬািয়ত সরকাির dেবয্র সংjা দাও। 

  

2. Answer any four questions from the following:

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) What are the determinants of democracy? 
গণতেntর িনধ�ারকgিল িক িক ? 
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(b) Justify the capabilities approach towards economic development in a less 
developed country. 
একিট sেlাnত �দেশ অথ�ৈনিতক উnয়েনর �kেt সkমতার ধারণার যথাথ�তা বয্াখয্া কেরা। 

(c) What do you mean by sustainability of renewable resources? 
পুনন�বীকরণেযাগয্ সmেদর sায়ীt বলেত িক �বােঝা ? 

(d) State four functions of World Trade Organisation (WTO). 
িবƬ বািণজয্ সংsার চারিট কাজ �লেখা। 

(e) Discuss the role of MNC in the context of globalisation of developing countries. 
উnয়নশীল �দশgিলর িবƬায়ন কম�সূচীর পিরেpিkেত বhজািতক সংsার ɛিমকা আেলাচনা কেরা। 

(f) Do you think that economic activity is one important cause of climate change? 
tিম িক মেন কেরা অথ�ৈনিতক কায�কলাপ জলবায় ুপিরবত�েনর অনয্তম কারণ ? 

  

3. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) Critically evaluate the role of Foreign Direct Investment (FDI) in economic 
development of less developed countries (LDCs). 
sেlাnত �দশgিলর অথ�ৈনিতক উnয়েন �বেদিশক pতয্k িবিনেয়াগ (FDI)-এর ɛিমকার 
সমােলাচনামূলক মূলয্ায়ন কেরা। 

10

(b) How is Human Development Index (HDI) constructed? Why it is a qualitatively 
better measure of economic development than per-capita income? 
‘মানব উnয়ন সূচক’ িকভােব গঠন করা হয় ? �কন এিট অথ�ৈনিতক উnয়েনর পিরমাপক িহসােব 
মাথািপছু আেয়র tলনায় gণগতভােব উnততর ? 

7+3

(c) Critically discuss any one theory of dependency. 
�য-�কােনা একিট িনভ�রশীলতার তেttর সমােলাচনামূলক আেলাচনা কেরা। 

10

(d) Comment on the performance of state regulated institutions. Do you think that 
government failures lead to corruption? 
রাŷ dারা িনয়িntত pিতŸানসমূেহর কম�kমতা সmেক� মnবয্ কেরা। tিম িক মেন কেরা, রােŷর 
বয্থ�তা dন�ীিতর জনয্ দায়ী ? 

6+4

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 6th Semester Examination, 2021 

ECOADSE05T-ECONOMICS (DSE3/4) 

FINANCIAL ECONOMICS 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate marks of question. pািnক সীমার মধ°s সংখ°ািট pেűর মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর িদেত হেব। 

1. Answer any five questions from the following:  
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Define Capital Market Line. 
ক°ািপটাল মােক�ট লাইন-এর সংjা দাও। 

(b) A borrower offers 16% nominal rate of interest with quarterly compounding. 
What is the effective rate of interest? 
ঋণgহীতা �tমািসক চkবৃিdর সােথ 16% নামমাt হােরর সুেদর অফার েদয়। সুেদর কায�কর হার 
কী ? 

(c) What is portfolio beta )(  in CAPM? 

িসএিপএম-এ েপাট�েফািলও িবটা )(  িক ? 

(d) What do you mean by equity capital? 
ইkইিট মূলধন বলেত িক েবাঝায় ? 

(e) How is standard deviation employed commonly in finance as a measure of risk? 
Ɉঁিকর পিরমাপ িহসােব আদশ� c°িত কীভােব ব°বহার হয় আেলাচনা কেরা। 

(f) Distinguish between forward and futures contract. 
ফেরায়াড� এবং িফউচার cিkর মেধ° পাথ�ক° িক ? 

(g) What is put-call parity? 
Put-call parity িক ? 

(h) State two disadvantages of debt financing in corporate finance. 
েযৗথ মূলধনী ব°বসায় অথ�সংsােন ঋণ অথ�ায়েনর dিট অসুিবধা উেlখ কেরা। 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 
5×4 = 20 

(a) Discuss the concept of efficient portfolio. 
দk েপাট�েফািলওর ধারণািট আেলাচনা কেরা। 
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(b) Suppose an investor buys a bond at Rs. 900. It has a maturity value of 10 years 
and par value of Rs. 1000. The bond fetches a coupon rate of Rs. 90 every year. 
Calculate current yield and yield to maturity of the bond. 
ধরা যাক, একজন িবিনেয়াগকারী একিট বn kয় কেরন ৯০০ টাকায়। বnিটর ম°াcিরিটর সময় ১০ 
বছর ও ম°াcিরিটর মূল° পার ভ°ালু ১০০০ টাকা। বেnর kপন েরট হল ৯০ টাকা pিত বছর। বnিটর 
বত�মান ফলন (yield) ও ম°াcিরিটেত ফলন (yield) কত হেব তার িনণ�য় কেরা। 

2+3

(c) What is the relationship between risk and return as per CAPM? 
িসএিপএম অনুসাের Ɉঁিক এবং িরটােন�র মেধ° সmক� কী ? 

(d) Distinguish between primary market and secondary market. 
pাথিমক বাজার এবং েগৗণ বাজােরর মেধ° পাথ�ক°। 

(e) If you invest Rs. 50,000/- today with 9% interest compounded quarterly, what will 
be its future value after 25 years? 
আপিন যিদ আজ �tমািসক 9% সুেদর সােথ 50,000/- টাকা িবিনেয়াগ কেরন তেব 25 বছর পের 
এর ভিবষ°েতর মূল° কত হেব ? 

(f) Explain the following option trading strategies— 
(i)  Straddle 
(ii)  Strangles 

িনেmাk অপশন ে¹িডং-এর েকৗশলgিল সmেক� আেলাচনা কেরা। 
(i)  s°ােডল 
(ii)  s°াংেগল 

  
3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20 

(a) What do you mean by cost of capital? Discuss in detail importance and methods 
of calculating cost of capital with the help of example. 
মূলধন ব°য় বলেত কী েবােঝা ? উদাহরেণর সাহােয° মূলধেনর ব°য় িনধ�ারেণর িবশদ grt এবং 
পdিতgিল িনেয় আেলাচনা কেরা। 

(b) Distinguish between present value (PV) and internal rate of return (IRR). Among 
these two which one is most important criteria for investment evaluation. 
‘েpেজn ভ°ালু’ ও ‘ইnারনাল েরট অফ িরটান�’-এর মেধ° পাথ�ক° িক ? এই dিটর মেধ° েকান ্  িট, 
িবিনেয়াগ-এর মূল°ায়েনর েkেt, েবিশ grtপূণ� ? 

4+6

(c) Explain the determinants of dividend policy. 
লভ°াংশ নীিত িনধ�ারক ব°াখ°া কেরা। 

(d) What is security market line? Explain the security market line in the context of 
capital asset pricing model (CAPM). 
িসিকউিরিট মােক�ট লাইন বলেত িক েবাঝায় ? CAPM মেডেলর েpিkেত িসিকউিরিট মােক�ট লাইন 
ব°াখ°া কেরা। 

3+7

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Programme 6th Semester Examination, 2021 

ECOGDSE03T-ECONOMICS (DSE2) 

TRADE AND DEVELOPMENT 

Time Allotted: 2 Hours  Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ� মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any six questions from the following:

িনmিলিখত �য-�কােনা ছয়িট pেűর উtর দাওঃ 

2×6 = 12

(a) Distinguish between Internal and International Trade.
অভয্nরীণ ও আnজ�ািতক বািণেজয্র মেধয্ পাথ�কয্ কেরা। 

(b) What was the basis for international trade according to Adam Smith? Explain. 
অয্াডাম িsথ-এর মেত আnজ�ািতক বািণেজয্র িভিt িক িছল ? বয্াখয্া কেরা। 

(c) What do you understand by Complete Specialisation?
সmূণ� িবেশষীকরণ বলেত িক �বােঝা ? 

(d) What do you mean by Terms of Trade?
বািণজয্ হার বলেত িক �বােঝা ? 

(e) What is Protection?
সংরkণ কােক বেল ? 

(f) What is the difference between Tariff and Quota?
ǖl ও �কাটা-এর মেধয্ পাথ�কয্ িক ? 

(g) What is Import Substitution? 
আমদািন পিরবত�তা িক ? 

(h) What is Balance of Payments? 
�লনেদন ভারসাময্ িক ? 

(i) What do you understand by Current Account?
চলিত িহসাব বলেত িক �বােঝা ? 

(j) What is Devaluation? 
অবমূলয্ায়ন িক ? 

(k) What is Fixed Exchange Rate? 
িsর িবিনময় হার িক ? 

(l) What is Globalisation of Production?
উৎপাদন-এর িবƬায়ন িক ? 
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2. Answer any two questions from the following:
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

4×2 = 8

(a) Explain the basis of trade according to Ricardo’s Comparative Advantage 
Theory. 
িরকােড�া-র tলনামূলক সুিবধা-র নীিত অনুযায়ী, বািণেজয্র িভিtিট বয্াখয্া কেরা। 

(b) “Balance of Payments always balances” — Explain.
‘‘�লনেদন ভারসাময্ সব�দা ভারসােময্ থােক’’— বয্াখয্া কেরা। 

(c) Distinguish between Nominal and Real Exchange Rates.
নামমাt-িবিনময়-হার ও pkত-িবিনময়-হার-এর মেধয্ পাথ�কয্ িক ? 

(d) What are the positive features of Multinational Corporations?
বhজািতক pিতŸান-এর ইিতবাচক �বিশŶয্gিল িক িক ? 

  
3. Answer any three questions from the following:

িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাওঃ 
10×3 = 30

(a) Discuss in detail the gains from International Trade.
আnজ�ািতক বািণেজয্র লাভgিল সিবsাের আেলাচনা কেরা। 

(b) Give arguments for and against protection policies and evaluate them. 
সংরkণ নীিতর পেk এবং িবপেk যুিkgিলর িবsািরত আেলাচনা ও মূলয্ায়ন কেরা। 

6+4

(c) What is an import quota? What are the effects of an import quota? How are they 
similar to or different from the effects of an equivalent import tariff? 
আমদািন �কাটা িক ? আমদািন �কাটা-এর pভাবgিল িক ? সমপিরমাণ ǖেlর pভােবর tলনায় এই 
pভাবgিলর সাদৃশয্ ও �বসাদৃশয্ িকrপ ? 

2+4+4

(d) Distinguish between current and capital account balance.
চলিত-খাত এবং মূলধনী-খাত-এর মেধয্ পাথ�কয্ কেরা। 

(e) Explain with diagram how exchange rate is determined under flexible exchange 
rate regime. How does the exchange rate influence domestic prices and terms of 
trade? 
নমনীয়-িবিনময়-হার বয্বsায় িবিনময় হার িকভােব িনধ�ািরত হয়, তা িচtসহকাের বয্াখয্া কেরা। এই 
িবিনময় হার িকভােব অভয্nরীণ দাম sর ও বািণজয্ নীিতেক pভািবত কের ? 

5+5

(f) Do you think international trade can be an engine of growth for today’s 
developing nations? Discuss with reference to the policies of the multinational 
corporations with globalisation of markets. 
tিম িক মেন কেরা বত�মােন �কােনা উnয়নশীল �দশ-এর জনয্ আnজ�ািতক বািণজয্ অgগিতর ইিĂন 
হেত পাের ? বhজািতক pিতŸানgিলর বাজার িবƬায়েনর পdিতর পিরেpিkেত এিট আেলাচনা 
কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Programme 6th Semester Examination, 2021 

ECOGDSE04T-ECONOMICS (DSE2) 

PUBLIC FINANCE 
Time Allotted: 2 Hours  Full Marks: 50 

 The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
 Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
 and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any six questions from the following:
িনmিলিখত �য-�কােনা ছয়িট  pেűর উtর দাওঃ 

2×6=12

(a) What are the characteristics of public goods? 
সরকারী dেব°র �বিশŶ°gিল িক িক ? 

(b) What is meant by the term “externality”? 
“বািহ°কতা” বলেত িক �বাঝায় ? 

(c) What is meant by market failure?  
বাজার ব°বsার ব°থ�তা বলেত িক �বাঝ ? 

(d) What is GST?  
GST িক ? 

(e) Name two sources of non-tax revenue of the state government. 
রাজ° সরকােরর dিট কর বিহɛ�ত রাজেsর উেlখ কেরা। 

(f) What is progressive tax?  
pগিতশীল কর কােক বেল ? 

(g) What is meant by balanced budget? 
সুষম বােজট বলেত িক �বাঝায় ? 

(h) What is meant by incidence of a tax? 
করভার বলেত িক �বাঝ ? 

(i) What is development expenditure? 
উnয়নমূলক ব°য় কােক বেল ? 

(j) Give two examples of direct tax.  
pত°k কেরর dিট উদাহরণ দাও। 

  
2. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 
4×2=8

(a) Distinguish between public goods and private goods. 
সরকারী ও �বসরকারী dেব°র মেধ° পাথ�ক° িনণ�য় কেরা। 



CBCS/B.A./B.Sc./Programme/6th Sem./ECOGDSE04T/2021 

6309 2

(b) Distinguish between revenue deficit and budgetary deficit in government budget.  
সরকারী বােজেট রাজs ঘাটিত ও বােজট ঘাটিতর পাথ�ক° �দখাও। 

(c) Draw and explain the concept of Laffer Curve. 
�রখািচt অìন কের Laffer �রখার ধারণািট ব°াখ°া কেরা। 

(d) Briefly explain the benefit principle of taxation. 
করpদােনর উপকার তttিট সংেkেপ বণ�না কেরা। 

  
3. Answer any three questions from the following:

িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাওঃ 
10×3=30

(a) Explain Lindahl equilibrium in determining the optimum provision of public goods.  
সরকারী dেব°র পিরমাণ িনধ�ারেণর �kেt Lindahl-এর ভারসাম°িট ব°াখ°া কেরা। 

(b) What are the canons of taxation?  
কর সংgেহর নীিতgিল িক িক ? 

(c) Write a note on the ability to pay principle of taxation. 
কর pদােনর সামথ�° নীিতিটর উপর একিট টীকা �লেখা। 

(d) Give a brief account of the sources of revenue of the central government of India.  
ভারেত �কndীয় সরকােরর রাজেsর উৎসgিলর বণ�না দাও। 

(e) Compare and contrast between direct and indirect tax. 
pত°k কর ও পেরাk কেরর মেধ° পাথ�ক° িনণ�য় কেরা। 

(f) Write a short note on centre-state financial relation. 
�কnd-রাজ° আিথ�ক সmক� সmেn একিট টীকা �লেখা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 

 


